

OFFICE OF THE CITY CLERK

AGENDA-REPORT

TO: Sabrina B. Landreth

City Administrator

FROM: Kirsten LaCasse

Interim /Controller

SUBJECT:

Aftermarket Automotive Parts &

Accessories

DATE: August 21, 2015

City Administrator Approval

Date:

RECOMMENDATION

Staff recommends that the City Council approve the resolution authorizing the City Administrator to award a contract to General Auto Parts Company, the lowest responsible, responsive bidder, a local business enterprise, in an annual amount not to exceed five hundred thousand dollars (\$500,000.00) to provide aftermarket automotive parts & accessories for a three year term, August 1, 2015 to July 31, 2018, for a total not to exceed contract amount of one million five hundred thousand dollars (\$1,500,000.00) in accordance with the terms and conditions in Specification No. 15-465-14-01/RFQ 5466. This contract will be used by Oakland Public Works, Bureau of Infrastructure and Operations, Equipment Services Division, to repair fleet vehicles.

EXECUTIVE SUMMARY

In accordance with Oakland Municipal Code (OMC) 2.04.050 staff recommends that the City Council approve the resolution authorizing the City Administrator to award a contract to General Auto Parts Company, the lowest responsible, responsive bidder, for Specification No. 15-465-14-01/RFQ 5466.

The City will enter into a contract with General Auto Parts Company, the lowest responsible, responsive bidder, to provide aftermarket automotive parts & accessories for a three year term, August 1, 2015 to July 31, 2018 for a total not to exceed contract amount of one million five hundred thousand dollars (\$1,500,000.00).

BACKGROUND / LEGISLATIVE HISTORY

On April 15, 2015 Specification No.15-465-14-01/RFQ No. 5466 to provide aftermarket automotive parts & accessories was sent to two local business enterprises, and four non-local business enterprises, posted on the City's web page and advertised in the City's official newspaper in accordance with Oakland Municipal Code (OMC) 2.04.050. On April 29, 2015 staff conducted a pre bid meeting. Meeting minutes were sent to all interested businesses.

On June 1, 2015, the City received two bids: General Auto Parts Company, a local business enterprise, and Fast Undercar Incorporated, a non-local business enterprise, in response to RFQ 5466, General Auto Parts Company was deemed the lowest responsible bidder.

	Item:	
Finance and Mana	gement Com	mittee
ç	Sentember 29	2015

ANALYSIS AND POLICY ALTERNATIVES

Oakland Public Works, Bureau of Infrastructure and Operations, Equipment Services Division, maintains and repairs the City's automotive, equipment, construction, and public safety fleets. The fleets consist of approximately 1,700 automotive vehicles and support equipment. This contract will serve as a vital link for the replacement of deteriorated and malfunctioning parts, and will streamline the acquisition of auto parts for the City by allowing the Equipment Division to procure a wide variety of parts needed by various manufactures from one source. This contract also allows the Equipment Division to maintain a minimal amount of inventory on hand.

FISCAL IMPACT

AMOUNT OF RECOMMENDATION/COST OF PROJECT:	\$500,000.00
COST ELEMENTS OF AGREEMENT/CONTRACT: Aftermarket Automotive Parts & Accessories	\$330,183.68
Tax 9.5%	\$31,367.45
Contingency 38.293%	\$138,448.87
TOTAL ANNUAL AMOUNT	\$500,000.00
TOTAL AMOUNT FOR THREE-YEAR TERM	\$1,500,000.00

SOURCE OF FUNDING:

1.4100.30541.54612.0000000.IN01

\$500,000.00

Funds are available in the Equipment Fund (4100), Equipment Services Administration Organization (30541), Service Contracts for Machinery and Equipment Account (54612), Undetermined Project (0000000), Fleet Management and Maintenance (IN01).

A 38.293% contingency is included for unforeseen services, annual adjustments and expanding or changing requirements as the department phases in newer more efficient vehicles to its fleet.

PUBLIC OUTREACH / INTEREST

This requirement was posted on the City's website and the City's official newspaper. No other additional public outreach was required.

COORDINATION

The Purchasing Section worked jointly with OPW's Bureau of Infrastructure & Operations, Equipment Services Division, in the specifications development and the bid evaluation process.

SUSTAINABLE OPPORTUNITIES

Economic: This vendor has a valid City of Oakland business tax license. The award of this contract will yield approximately \$1800.00 in business tax revenues to the City of Oakland.

Item:
Finance and Management Committee
September 29, 2015

Environmental: The parts and materials identified for these requirements are environmentally and user safe. The batteries furnished are picked up by the supplier and recycled. The alternators and starters can be recoiled and refurbished.

Social Equity: No social equity opportunities have been identified.

ACTION REQUESTED OF THE CITY COUNCIL

For information regarding this report, you may contact JIMMIE JACKSON, PURCHASING SUPERVISOR, at 238-7563.

Respectfully submitted,

KIRSTEN LACASSE

Interim Controller, Controller's Bureau

Reviewed by:

Paige Alderete, Assistant Controller

Prepared by:

Jimmie D. Jackson, Purchasing Supervisor Purchasing Section

CITY OF OAKLAND PURCHASING DIVISION AWARD RECOMMENDATION STATEMENT



COLINICII ACENDA DATE	SPECIFICATION/PROJECT NO.:	FUNDING SOURCE:	OURCE: BID OPE			
COUNCIL AGENDA DATE:	SPEC. NO. 15-465-14-01	Equipment Fund (4100), Equipment		BID OPENING DATE: June 01, 2015		
SEPTEMBER 15, 2015		Services Administration (30541), Ser	vice	iic 01,	2013	
	RFQ NO 5466	Contracts for Machinery and Equipm				
		Account (54612), Undetermined Pro				
		(0000000), Fleet Management &	jeci			
		Maintenance (IN01).				
*	PDE VIOLIGIA FOIGH A FIGURE PERCENT					
	PREVIOUS LEGISLATION: RESOLU					
	CONTRACT PERIOD: January 1,					
PURPOSE STATEMENT: P	rovide the City of Oakland with	: Aftermarket Automotive Parts &	Accessories.	•		
	ITEM NO./DESCRIPTION		ESTIMAT	ΓFD	PERCENT	
	TEM NO. BEGGIAN TIGH	ACTUAL COST	COST		DIFFERENCE	
		7.0.0.2.2001				
Aftermarket Automotive Part	s & Accessories	361,551.13	500,000	0.00	27.689 %	
			-			
					1	
	y for this contract.	Parts, a corporation, received the loc	al vendor pre	eferenc	e. There are n	
	y for this contract.	Parts, a corporation, received the loc	al vendor pre	eferenc	ee. There are no	
additional costs to the Cit	y for this contract. RANGE C	-			ee. There are n	
additional costs to the Cit TOTAL BIDS RECEIVED/DO	y for this contract. RANGE C LLAR RANGE	OF BIDS RECEIVED	I/DOLLAR RAI		ee. There are no	
COMMENTARY: The readditional costs to the Cit TOTAL BIDS RECEIVED/DO \$361,551.13 to \$400	y for this contract. RANGE C LLAR RANGE 0,714.93	DF BIDS RECEIVED BIDS WHICH MEET SPECIFICATION	I/DOLLAR RAI		ce. There are no	
additional costs to the Cit TOTAL BIDS RECEIVED/DO \$361,551.13 to \$400	y for this contract. RANGE C LLAR RANGE 0,714.93 LOW BIDS NOT	BIDS RECEIVED BIDS WHICH MEET SPECIFICATION \$361,551.13 to \$400,714.	I/DOLLAR RAI		ee. There are n	
additional costs to the Cit TOTAL BIDS RECEIVED/DO	y for this contract. RANGE C LLAR RANGE 0,714.93	BIDS RECEIVED BIDS WHICH MEET SPECIFICATION \$361,551.13 to \$400,714.	I/DOLLAR RAI		ee. There are n	
additional costs to the Cit TOTAL BIDS RECEIVED/DO \$361,551.13 to \$400	y for this contract. RANGE C LLAR RANGE 0,714.93 LOW BIDS NOT	BIDS RECEIVED BIDS WHICH MEET SPECIFICATION \$361,551.13 to \$400,714.	I/DOLLAR RAI		ee. There are n	
additional costs to the Cit TOTAL BIDS RECEIVED/DO \$361,551.13 to \$400 VENDOR/CONTRACTOR	y for this contract. RANGE C LLAR RANGE 0,714.93 LOW BIDS NOT I REASON AWARD	BIDS RECEIVED BIDS WHICH MEET SPECIFICATION \$361,551.13 to \$400,714. MEETING SPECIFICATION RECOMMENDATION ON REJECTIO RECOMMENDED	I/DOLLAR RAI		ee. There are n	
additional costs to the Cit TOTAL BIDS RECEIVED/DO \$361,551.13 to \$400	RANGE COLLAR RANGE 0,714.93 LOW BIDS NOT REASON AWARD	BIDS RECEIVED BIDS WHICH MEET SPECIFICATION \$361,551.13 to \$400,714. MEETING SPECIFICATION RECOMMENDATION ON REJECTIO RECOMMENDED DESCRIPTION	N/DOLLAR RAI	NGE AMO	UNT	
TOTAL BIDS RECEIVED/DO \$361,551.13 to \$400 VENDOR/CONTRACTOR VENDOR NAME/A	RANGE COLLAR RANGE 0,714.93 LOW BIDS NOT REASON AWARD	BIDS RECEIVED BIDS WHICH MEET SPECIFICATION \$361,551.13 to \$400,714. MEETING SPECIFICATION RECOMMENDATION ON REJECTIO RECOMMENDED	N/DOLLAR RAI	NGE	UNT	
additional costs to the Cit TOTAL BIDS RECEIVED/DO \$361,551.13 to \$400 VENDOR/CONTRACTOR	RANGE COLLAR RANGE 0,714.93 LOW BIDS NOT REASON AWARD	BIDS RECEIVED BIDS WHICH MEET SPECIFICATION \$361,551.13 to \$400,714. MEETING SPECIFICATION RECOMMENDATION ON REJECTIO RECOMMENDED DESCRIPTION	N/DOLLAR RAI	NGE AMO	UNT	
TOTAL BIDS RECEIVED/DO \$361,551.13 to \$400 VENDOR/CONTRACTOR VENDOR NAME/A General Auto Parts Compa	RANGE COLLAR RANGE 0,714.93 LOW BIDS NOT REASON AWARD	BIDS RECEIVED BIDS WHICH MEET SPECIFICATION \$361,551.13 to \$400,714. MEETING SPECIFICATION RECOMMENDATION ON REJECTIO RECOMMENDED DESCRIPTION	N/DOLLAR RAI	NGE AMO	UNT	

SUBMITTED BY

APPROVED AND FORWARDED TO COUNCIL

DEPARTMENT HEAD		OFFICE OF THE CITY ADMINISTRATOR				
$\gamma\gamma$		LOWEST B	ID BY CATEGORY			
BID CALL	TOTAL	LOCAL BUSINESS	NON-LOCAL			
ASK	6	1	5			
NO RESPONSE	4	. 0	4			
BIDS RECEIVED	2	1	1			
AWARDS RECOMMENDED	1	1-361,551.13	0			

		*				
RECAP RFQ 5466	4-14		General A	uto Parts	Fast	Jndercar
			Oakland 51	0-533-3337	Santa Clara	408-566-0200
Item Description	Quantity	Unit	Unit Cost	Total	Unit Cost	Total
1Luber-Finer LFF4783 Oil Filter		Each	\$4.98	149.40	\$5.81	174.30
2Luber-Finer LFF4783 Oil Filter		Each	\$4.98	149.40	\$5.81	174.30
3Luber-Finer PH6715 Oil Filter		Each	\$6.18	123.60	\$5.12	102.40
4Luber-Finer PH2835 Oil Filter		Each	\$4.72	944.00	\$1.62	324.00
5Luber-Finer PH253 Oil Filter		Each	\$2.38	23.80	\$2.03	20.30
6Luber-Finer PH500 Oil Filter	300	Each	\$3.48	1,044.00	\$1.91	573.00
7Luber-Finer PH2876 Oil Filter		Each	\$5.89	58.90	\$1.70	17.00
8Luber-Finer PH820 Oil Filter	900	Each	\$3.94	3,546.00	\$1.78	1,602.00
9Luber-Finer PH8A Oil Filter	50	Each	\$2.64	132.00	\$1.78	89.00
10Luber-Finer PH400 Oil Filter	100	Each	\$4.34	434.00	\$1.62	162.00
11Luber-Finer PH1218 Oil Filter	20	Each	\$2.21	44.20	\$2.03	40.60
12Luber-Finer PH454 Oil Filter	20	Each	\$3.01	60.20	\$2.56	51.20
13Luber-Finer LFP2286 Oil Filter	20	Each	\$10.07	201.40	\$6.95	139.00
14Luber-Finer LFP784 Oil Filter	20	Each	\$4.98	99.60	\$4.94	98.80
15Luber-Finer LFP3000 Oil Filter		Each	\$14.56	728.00	\$14.64	732.00
16Luber-Finer PH675 Oil Filter	50	Each	\$4.56	228.00	\$4.18	209.00
17Luber-Finer LFP2257 Oil Filter	50	Each	\$5.25	262.50	\$6.95	347.50
18Luber-Finer LFP4005 Oil Filter	10	Each	\$11.21	112.10	\$7.73	77.30
19Luber-Finer LFP9001 Oil Filter	50	Each	\$15.95	797.50	\$19.95	997.50
20Luber-Finer LFP3191 Oil Filter	10	Each	\$6.18	61.80	\$4.26	42.60
21Luber-Finer LFP3000 Oil Filter	40	Each	\$14.56	582.40	\$14.64	585.60
22Luber-Finer LFP3970 Oil Filter		Each	\$7.98	39.90	\$5.50	27.50
23Luber-Finer LF3553 Oil Filter		Each	\$4.03	80.60	\$4.72	94.40
24Luber-Finer L3541F Air Filter		Each	\$5.53	55.30	\$3.81	38.10
25Luber-Finer CAF24016 Air Filter		Each	\$9.90	247.50	\$6.83	170.75
26Luber-Finer LAF9096 Air Filter		Each	\$17.19	85.95	\$7.25	36.25
27Luber-Finer LAF1646 Air Filter		Each	\$45.12	225.60	\$31.12	155.60
28Luber-Finer LAF2886 Air Filter		Each	\$45.38	1,815.20	\$31.30	1,252.00
29Luber-Finer LAF1617 Air Filter		Each	\$8.64	86.40	\$8.60	86.00
30Luber-Finer AF1615 Air Filter		Each	\$11.79	471.60	\$5.64	225.60
31Luber-Finer LAF4544 Air Filter		Each	\$12.20	244.00	\$17.66	353.20
32Luber-Finer LAF1675 Air Filter		Each	\$8.03	40.15	\$9.83	49.15
33Luber-Finer LAF1680 Air Filter		Each	\$5.18	155.40	\$7.12	213.60
34Luber-Finer AF1618 Air Filter		Each	\$4.52	226.00	\$5.52	276.00
35Luber-Finer AF1658 Air Filter		Each	\$6.31	189.30	\$3.82	114.60
36Luber-Finer AF2883 Air Filter		Each	\$10.86	325.80	\$3.81	114.30
37Luber-Finer AF1046 Air Filter		Each	\$3.83	766.00	\$4.75	950.00
38Luber-Finer AF6908 Air Filter 39Luber-Finer LAF9373 Air Filter		Each	\$7.42	371.00	\$8.38 \$18.38	419.00 183.80
40Luber-Finer LAF3585 Air Filter		Each Each	\$12.04	120.40 313.20	\$10.30	372.60
41Luber-Finer LAF5363 Air Filter		Each	\$10.44 \$10.26	205.20	\$20.45	409.00
42Luber-Finer LAF4503 Air Filter		Each	\$15.13	151.30	\$23.35	233.50
43Luber-Finer LAF9545 Air Filter		Each	\$14.92	447.60	\$24.09	722.70
44Luber-Finer LAF9544 Air Filter		Each	\$12.10	242.00	\$31.58	631.60
45Luber-Finer LFF1065 Fuel Filter		Each	\$12.47	374.10	\$18.52	555.60
46Luber-Finer LFF1000 Fuel Filter		Each	\$10.65	213.00	\$7.34	146.80
47Luber-Finer LFF7688 Fuel Filter		Each	\$6.86	343.00	\$11.39	569.50
48Luber-Finer G1010 Fuel Filter		Each	\$7.85	78.50	\$5.41	54.10
49Luber-Finer L4595F Fuel Filter		Each	\$10.13	101.30	\$13.43	134.30
50Luber-Finer L4596F Fuel Filter		Each	\$19.96	99.80	\$13.76	68.80
51Luber-Finer G1059 Fuel Filter		Each	\$12.23	61.15	\$8.43	42.15
52Luber-Finer LFF8215 Fuel Filter		Each	\$8.86	354.40	\$40.00	1,600.00
53Luber-Finer G6593 Fuel Filter		Each	\$6.93	1,039.50	\$2.77	415.50
54Luber-Finer LFF2749 Fuel Filter		Each	\$6.80	204.00	\$6.65	199.50
55Luber-Finer LFF5632 Fuel Filter		Each	\$11.60	348.00	\$9.33	279.90
56Luber-Finer LFF5488 Fuel Filter		Each	\$5.30	159.00	\$6.11	183.30
57Luber-Finer L4615F Fuel Filter		Each	\$14.67	1,467.00	\$35.01	3,501.00
58Luber-Finer LFF5080 Fuel Filter		Each	\$45.82	1,832.80	\$31.60	1,264.00

Item Description	Quantity	l Init	Unit Cost	Total	Unit Cost	Total
59Luber-Finer LFF8957 Fuel Filter		Each	\$14.14	70.70	\$12.66	63.30
60Luber-Finer LFF1223 Fuel Filter		Each	\$10.59	211.80	\$14.48	289.60
		Each	\$13.34	266.80	\$9.20	
61Luber-Finer LFW4744 Fuel Filter 62Luber-Finer G1036 Fuel Filter		Each	\$6.87		\$5.23	184.00
				343.50 3,257.00	\$27.14	261.50
63Luber-Finer L4609F Fuel Filter		Each	\$32.57			2,714.00
64Luber-Finer LFF3521 Fuel Filter		Each	\$2.53	75.90	\$3.86	115.80
65Luber-Finer G6367 Fuel Filter			\$6.11	30.55	\$3.12	15.60
66Luber-Finer LFF8063 Fuel Filter		Each	\$14.07	281.40	\$16.27	325.40
67Luber-Finer G481 Fuel Filter		Each	\$6.57	197.10	\$2.25	67.50
68Luber-Finer LFP5570 Trans Filter		Each	\$2.88	57.60	\$2.54	50.80
69Luber-Finer LFP1652 Trans Filter		Each	\$4.47	44.70	\$3.08	30.80
70Luber-Finer LFH4223 Trans Filter		Each	\$8.68	86.80	\$9.58	95.80
71Luber-Finer T643 Trans Filter		Each	\$11.96	239.20	\$14.81	296.20
72Luber-Finer LFH420-4XL Trans Filter		Each	\$12.77	383.10	\$22.19	665.70
73Luber-Finer LFH4955 Trans Filter		Each	\$7.01	210.30	\$6.89	206.70
74Luber-Finer T643 Trans Filter		Each	\$11.96	119.60	\$14.81	148.10
75Luber-Finer T638 Trans Filter		Each	\$11.07	221.40	\$17.36	347.20
76Luber-Finer LFF8020 Coolant Filter		Each	\$9.32	186.40	\$6.43	128.60
77Luber-Finer L W4685 Coolant Filter		Each	\$5.43	108.60	\$4.62	92.40
78Luber-Finer L W4686XL Coolant Filter		Each	\$5.04	100.80	\$19.83	396.60
79CRC 91444 Disc Brak Quiet		Each	\$5.49	131.76	\$2.78	66.72
80CRC /05023 Battery Cleaner	24	Each	\$4.59	110.16	\$2.49	59.76
81CRC /05018 Lectra Motive	24	Each	\$7.80	187.20	\$4.99	119.76
82CRC /05050 Brake Parts Cleaner	480	Each	\$3.39	1,627.20	\$2.19	1,051.20
83CRC /05379 Carburetor Cleaner	96	Each	\$5.89	565.44	\$2.99	287.04
84Sta-Lube CRC SL3151 Super White Grease	24	Each	\$6.09	146.16	\$2.89	69.36
85Krystal Clear Windshield Washer Cleaner	400	Each	\$2.49	996.00	\$1.99	796.00
86Arm & Hammer Baking Soda	20	Each	\$3.81	76.20	\$2.99	59.80
87Kresto 87005 Hand Cleaner	50	Each	\$4.38	219.00	\$6.25	312.50
88Motul 100951 Brake Fluid Dot 5	200	Each	\$8.08	1,616.00	\$6.99	1,398.00
89Pyroil BF4-32 Brake Fluid Dot 4	100	Each	\$7.99	799.00	\$4.25	425.00
90Berryman /0117 B-12 Chemtool	96	Each	\$5.19	498.24	\$2.99	287.04
91Gunk GC1 Glass Cleaner	96	Each	\$4.79	459.84	\$1.89	181.44
92Gunk EBZCA Engine Degreaser		Each	\$6.99	335.52	\$3.25	156.00
93WD-40 10032 WD-40		Each	\$8.99	1,078.80	\$6.25	750.00
94Rislone 1000R Engine Treatment		Each	\$8.89	88.90	\$4.25	42.50
95Motion Industries 521X04000 FGL-2 Ford Lube		Each	\$16.45	164.50	\$14.95	149.50
96Super Lube (Synco) 41150 Synthetic Grease		Each	\$8.89	88.90	\$14.09	140.90
97Modil 4ZF49 SCH100 Synthetic Grease		Each	\$22.49	224.90	\$23.80	238.00
98Lucas 10005 Red-N-Tacky #2 Grease		Each	\$5.39	107.80	\$3.20	64.00
99Lucas X-tra (Heavy Duty Grease		Each	\$7.29	72.90	\$3.35	33.50
100Lucas 10042 Gear Oil 85W-140		Each	\$10.69	427.60	\$6.35	254.00
101Lucas 10121 Synthetic Gear Oil 75W-141		Each	\$16.59	1,659.00	\$9.90	990.00
102Lucas 10393 Chain Lube		Each	\$8.89	213.36	\$5.30	127.20
103Lucas 10008 Power Steering Fluid		Each	\$12.09	1,209.00	\$7.20	720.00
104Lucas Upper Cyl. Lube & Inj Cleaner		Each	\$12.39	123.90	\$7.35	73.50
105Lucas 10216 Air Tool Lubricant		Each	\$6.49	64.90	\$4.00	40.00
106Bars Leak 1185 Radiator Stop Leak		Each	\$9.39	93.90	\$1.89	18.90
107K&W 401016 Block Seal		Each	\$12.79	127.90	\$6.89	68.90
108Permatex 80077 Disc Brak Quiet		Each	\$6.08	145.92	\$4.84	116.16
109Permatex 80645 Gasket Remover		Each	\$10.58	507.84	\$8.44	405.12
110Permatex 24200 Threadlocker (blue)		Each	\$4.18	209.00	\$3.34	167.00
111Permatex 27100 Threadlocker (Red)		Each	\$4.18	209.00	\$3.68	184.00
112Permatex 85080 Ultra Black(RTV Silicone)		Each	\$16.98	1,698.00	\$16.48	1,648.00
113Permatex 81724 Ultra Blue(RTV Silicone		Each	\$4.87	487.00	\$3.89	389.00
114Permatex 81737 Dr. Bond Super Glue		Each	\$1.08	54.00	\$0.86	43.00
115Permatex 25905 Contact Cement		Each	\$2.26	45.20	\$1.80	36.00
		Each	\$3.62	144.80	\$1.80	
116Permatex 81840 Rear View Mirror Adhesive				84.70	\$6.76	115.60
117Permatex 80065 Sealant Spray-a-Gasket		Each	\$8.47			67.60
118Permatex 80078 Anti-Seize Lubricant		Each	\$6.87	343.50	\$5.48	274.00
119Permatex 82019 Spray Adhesive		Each Each	\$6.72 \$5.69	134.40 273.12	\$5.36 \$4.25	107.20 204.00
120B'laster Corp 16PB Blaster				272121	14. 75 L	2020

Item Description	Quantity	Unit	Unit Cost	Total	Unit Cost	Total
121Pyroil WLG-2 White Lithium Grease		Each	\$3.79	37.90	\$8.25	82.50
122B/A Products Slide Rite Graphite Lube		Each	\$14.99	299.80	\$23.29	465.80
123J-B Weld 8276 J-B Weld		Each	\$7.89	78.90	\$3.89	38.90
1243M 8011 Black Weatherstrip Adhesive		Each	\$7.89	315.60	\$7.95	318.00
125Sparkletts 322540 Distilled Water	40	Each	\$1.99	79.60	\$3.99	159.60
126Altec/0041-90002 Clean-N-Glaze	20	Each	\$19.25	385.00	\$19.95	399.00
127Motorcraft 42187 Silicone Brake Grease	100	Each	\$10.18	1,018.00	\$3.29	329.00
128Prestone 4837 Radiator Flush Cleaner	24	Each	\$3.18	76.32	\$2.99	71.76
129Tru-Flate Camel 12-092 Liquid Tire Buffer	5	Each	\$16.78	83.90	\$28.95	144.75
130Rema Tip Top 101000026 203 Cold Vul Fluid	5	Each	\$17.99	89.95	\$16.99	84.95
131Quest 804 Foaming Tire Shine	5	Each	\$12.99	64.95	\$18.99	94.95
132Centric Brake 106.1414 FRONT PADS	40	Each	\$42.32	1,692.80	\$41.48	1,659.20
133Centric Brake 106.0756 FRONT PADS		Each	\$40.77	1,630.80	\$36.63	1,465.20
134Centric Brake 106.1069 FRONT PADS		Each	\$39.30	1,572.00	\$35.31	1,412.40
135Centric Brake 106.1066 FRONT PADS		Each	\$50.10	1,002.00	\$45.01	900.20
136Centric Brake 106.0777 FRONT PADS		Each	\$49.73	497.30	\$41.24	412.40
137Centric Brake 106.0655 FRONT PADS		Each	\$28.75	1,725.00	\$31.00	1,860.00
138Centric Brake 106.1328 FRONT PADS		Each	\$33.08	1,984.80	\$39.62	2,377.20
139Centric Brake 106.0652 FRONT PADS		Each	\$9.10	182.00	\$24.53	490.60
140Centric Brake 106.0833 FRONT PADS		Each	\$21.58	431.60	\$25.85	517.00
141Centric Brake 106.1044 FRONT PADS		Each	\$32.18	321.80	\$26.69	266.90
142Centric Brake 106.0931 FRONT PADS		Each	\$33.50	6,700.00	\$32.82	6,564.00
143Centric Brake 106.1508 FRONT PADS				425.80		
	-	Each	\$42.58		\$35.31	353.10
144Centric Brake 106.16111 FRONT PADS		Each	\$39.98	7,996.00	\$33.15	6,630.00
145Centric Brake 105.11841 FRONT PADS		Each	\$30.90	1,236.00	\$27.76	1,110.40
146Centric Brake 106.1363 FRONT PADS		Each	\$46.48	464.80	\$38.54	385.40
147Centric Brake 106.0914 FRONT PADS		Each	\$26.70	534.00	\$23.99	479.80
148Centric Brake 306.14140 FRONT PADS		Each	\$56.38	2,255.20	\$55.25	2,210.00
149Centric Brake 306.07560 FRONT PADS		Each	\$49.47	1,978.80	\$48.49	1,939.60
150Centric Brake 306.10690 FRONT PADS		Each	\$49.45	1,978.00	\$48.46	1,938.40
151Centric Brake 306.10660 FRONT PADS		Each	\$55.50	1,110.00	\$49.86	997.20
152Centric Brake 306.07770 FRONT PADS		Each	\$0.65	6.50	\$41.24	412.40
153Centric Brake 306.06550 FRONT PADS		Each	\$44.53	2,671.80	\$53.34	3,200.40
154Centric Brake 306.13280 FRONT PADS		Each	\$46.31	2,778.60	\$55.46	3,327.60
155Centric Brake 306.06520 FRONT PADS		Each	\$14.39	287.80	\$38.79	775.80
156Centric Brake 306.08330 FRONT PADS		Each	\$26.96	539.20	\$32.29	645.80
157Centric Brake 306.09310 FRONT PADS		Each	\$35.48	7,096.00	\$34.77	6,954.00
158Centric Brake 306.16111 FRONT PADS		Each	\$52.25	10,450.00	\$51.09	10,218.00
159Centric Brake 306.13630 FRONT PADS		Each	\$35.80	358.00	\$48.25	482.50
160Centric Brake 120.65134 FRONT ROTOR	40	Each	\$60.47	2,418.80	\$65.19	2,607.60
161Centric Brake 120.65073 FRONT ROTOR	200	Each	\$73.13	14,626.00	\$96.35	19,270.00
162Centric Brake 120.65122 FRONT ROTOR	40	Each	\$116.55	4,662.00	\$153.56	6,142.40
163Centric Brake 120.6511 FRONT ROTOR	40	Each	\$49.95	1,998.00	\$111.00	4,440.00
164Centric Brake 120.65087 FRONT ROTOR	40	Each	\$53.51	2,140.40	\$70.50	2,820.00
165Centric Brake 120.65046 FRONT ROTOR	60	Each	\$60.53	3,631.80	\$79.75	4,785.00
166Centric Brake 120.65124 FRONT ROTOR	10	Each	\$111.00	1,110.00	\$109.69	1,096.90
167Centric Brake 120.65051 FRONT ROTOR	10	Each	\$55.58	555.80	\$50.69	506.90
168Centric Brake 121.39037 FRONT ROTOR		Each	\$28.28	282.80	\$18.76	187.60
169Centric Brake 125.61072 FRONT ROTOR		Each	\$43.73	17,492.00	\$47.14	18,856.00
170Centric Brake 120.61102 FRONT ROTOR	10	Each	\$61.33	613.30	\$66.11	661.10
171Centric Brake 120.65136 FRONT ROTOR		Each	\$79.33	31,732.00	\$73.49	29,396.00
172Centric Brake 120.44143 FRONT ROTOR		Each	\$28.93	578.60	\$26.39	527.80
173Centric Brake 120.66057 FRONT ROTOR		Each	\$49.08	490.80	\$44.76	447.60
174Centric Brake 106.16200 REAR PADS/SHOES		Each	\$0.65	6.50	\$0.10	1.00
175Centric Brake 106.07570 REAR PADS/SHOES		Each	\$20.36	1,221.60	\$27.43	1,645.80
176Centric Brake 106.10670 REAR PADS/SHOES		Each	\$12.19	487.60	\$32.86	1,314.40
177Centric Brake 106.10660 REAR PADS/SHOES		Each	\$45.93	918.60	\$45.01	900.20
178Centric Brake 106.10000 REAR PADS/SHOES		Each	\$15.30	153.00	\$41.24	412.40
179Centric Brake 106.08020 REAR PADS/SHOES		Each	\$19.96	1,197.60	\$26.90	1,614.00
180Centric Brake 106.08020 REAR PADS/SHOES		Each	\$36.75	1,197.60	\$39.62	1,584.80
						<u> </u>
181Centric Brake 106.06670 REAR PADS/SHOES		Each Each	\$7.30 \$23.60	73.00 472.00	\$19.68 \$23.12	196.80 462.40

Item Description			Unit Cost	Total	Unit Cost	Total
183Centric Brake 105.10950 REAR PADS/SHOES		Each	\$26.37	263.70	\$25.85	258.50
184Centric Brake 106.09320 REAR PADS/SHOES		Each	\$23.60	2,360.00	\$23.12 \$25.61	2,312.00
185Centric Brake 106.13770 REAR PADS/SHOES 186Centric Brake 106.16120 REAR PADS/SHOES		Each	\$26.13	1,045.20	\$25.01	1,024.40
		Each	\$25.27	5,054.00		5,054.00
187Centric Brake 111.09450 REAR PADS/SHOES		Each	\$16.47	658.80	\$16.15	646.00
188Centric Brake 106.11940 REAR PADS/SHOES		Each Each	\$28.33	283.30 215.20	\$27.76 \$12.88	277.60
189Centric Brake 111.0913 REAR PADS/SHOES			\$10.76	346.60	\$20.76	257.60 415.20
190Centric Brake 111.09520 REAR PADS/SHOES		Each Each	\$17.33 \$65.45		\$70.55	2,822.00
191Centric Brake 120.65135 REAR ROTOR		Each		2,618.00		
192Centric Brake 120.65071 REAR ROTOR		Each	\$33.40	334.00	\$49.51 \$60.78	495.10
193Centric Brake 120.65113 REAR ROTOR		Each	\$46.13 \$82.47	1,845.20 824.70	\$88.90	2,431.20 889.00
194Centric Brake 120.65115 REAR ROTOR 195Centric Brake 120.65069 REAR ROTOR		Each		1,815.90	\$79.75	2,392.50
		Each	\$60.53	2,670.00	\$47.97	2,878.20
196Centric Brake 120.65078 REAR ROTOR		Each	\$44.50 \$51.98		\$68.48	684.80
197Centric Brake 120.65123 REAR ROTOR		Each	\$22.28	519.80 222.80	\$24.01	
198Centric Brake 120.65052 REAR ROTOR					\$35.28	240.10
199Centric Brake 120.61095 REAR ROTOR		Each	\$32.73	327.30		352.80
200Centric Brake 121.61101 REAR ROTOR 201Centric Brake 125.61073 REAR ROTOR		Each Each	\$8.85 \$29.72	354.00 5,944.00	\$12.72 \$39.16	508.80 7,832.00
202Centric Brake 123.61073 REAR ROTOR		Each	\$29.72	272.30	\$29.35	293.50
203Centric Brake 120.65137 REAR ROTOR		Each	\$35.98	3,598.00	\$47.40	4,740.00
204Centric Brake 122.44053 REAR ROTOR		Each	\$24.08	481.60	\$31.72	634.40
205Centric Brake 120.66065 REAR ROTOR			\$25.03	250.30	\$42.39	423.90
206Centric Brake 122.40017 REAR ROTOR		Each	\$13.48	269.60	\$17.75	355.00
207Centric Brake 306.16200 REAR PADS		Each	\$0.65	26.00	\$0.10	4.00
208Centric Brake 306.07570 REAR PADS		Each	\$29.18	1,167.20	\$39.33	1,573.20
209Centric Brake 306.10670 REAR PADS		Each	\$50.10	2,004.00	\$45.01	1,800.40
210Centric Brake 306.10660 REAR PADS		Each	\$50.88	1,017.60	\$49.86	997.20
211Centric Brake 306.07770 REAR PADS		Each	\$0.65	6.50	\$41.24	412.40
212Centric Brake 306.08020 REAR PADS		Each	\$39.57	2,374.20	\$38.79	2,327.40
213Centric Brake 306.13291 REAR PADS		Each	\$0.65	39.00	\$53.10	3,186.00
214Centric Brake 306.06670 REAR PADS		Each	\$12.30	246.00	\$33.15	663.00
215Centric Brake 306.09320 REAR PADS		Each	\$32.97	659.40	\$32.32	646.40
216Centric Brake 306.09320 REAR PADS		Each	\$26.98	5,396.00	\$32.32	6,464.00
217Centric Brake 306.16120 REAR PADS		Each	\$36.03	7,206.00	\$35.31	7,062.00
218Centric Brake 306.11940 REAR PADS			\$34.93	349.30	\$34.23	342.30
219AUTOLITE PLUG XP103 Spark Plugs		Each	\$2.88	1,152.00	\$4.22	1,688.00
220AUTOLITE PLUG HT15 Spark Plugs		Each	\$5.55	444.00	\$6.84	547.20
221AUTOLITE PLUG HT2 Spark Plugs		Each	\$5.85	936.00	\$6.84	1,094.40
222AUTOLITE PLUG XP103 Spark Plugs		Each	\$2.88	460.80	\$4.22	675.20
223AUTOLITE PLUG XP104 Spark Plugs	80	Each	\$3.42	273.60	\$4.22	337.60
224AUTOLITE PLUG AP103 Spark Plugs		Each	\$1.61	128.80	\$2.04	163.20
225AUTOLITE PLUG AP104 Spark Plugs	80	Each	\$1.61	128.80	\$2.04	163.20
226AUTOLITE PLUG AP5143 Spark Plugs	160	Each	\$1.74	278.40	\$2.04	326.40
227AUTOLITE PLUG XP5363 Spark Plugs	240	Each	\$3.59	861.60	\$4.22	1,012.80
228AUTOLITE PLUG XP5243 Spark Plugs	80	Each	\$4.05	324.00	\$4.22	337.60
229AUTOLITE PLUG XP5701 Spark Plugs	160	Each	\$4.05	648.00	\$4.22	675.20
230AUTOLITE PLUG 4164 Spark Plugs	80	Each	\$1.07	85.60	\$1.25	100.00
231NGK PLUG 6509 Spark Plugs	400	Each	\$3.84	1,536.00	\$6.04	2,416.00
232NGK PLUG 3403 Spark Plugs		Each	\$1.77	141.60	\$6.04	483.20
233NGK PLUG 5507 Spark Plugs		Each	\$7.96	1,273.60	\$9.95	1,592.00
234NGK PLUG 1698 Spark Plugs		Each	\$4.11	657.60	\$5.14	822.40
235NGK PLUG 7159 Spark Plugs		Each	\$1.77	141.60	\$2.21	176.80
236NGK PLUG 5019 Spark Plugs		Each	\$1.77	141.60	\$2.21	176.80
237NGK PLUG 1465 Spark Plugs		Each	\$5.26	420.80	\$6.58	526.40
238NGK PLUG 95705 Spark Plugs		Each	\$6.87	1,099.20	\$8.59	1,374.40
239NGK PLUG DPR6EA9 Spark Plugs		Each	\$1.20	288.00	\$1.58	379.20
240NGK PLUG DILZKR7A-11G Spark Plugs		Each	\$7.62	1,219.20	\$15.96	2,553.60
241NGK PLUG 1068 Spark Plugs		Each	\$1.20	96.00	\$1.50	120.00
242Spectra-Premium CU13226 RADIATOR		Each	\$61.46	614.60	\$85.89	858.90
243Spectra-Premium CU2136 RADIATOR		Each	\$71.89	718.90	\$100.45	1,004.50
244Spectra-Premium CU1323 RADIATOR	10	Each	\$47.03	470.30	\$65.71	657.10

и В		CONTROL OF STREET			1	
Item Description	Quantity	Unit	Unit Cost	Total	Unit Cost	Total
245Spectra-Premium CU2887 RADIATOR		Each	\$93.87	938.70	\$131.16	1,311.60
246Spectra-Premium CU2171 RADIATOR		Each	\$87.82	878.20	\$122.71	1,227.10
247Spectra-Premium CU1995 RADIATOR		Each	\$81.19	1,623.80	\$113.45	2,269.00
248Spectra-Premium CU1994 RADIATOR		Each	\$74.01	740.10	\$164.93	1,649.30
249Spectra-Premium CU2310 RADIATOR		Each	\$63.11	315.55	\$140.63	703.15
250Spectra-Premium CU2852 RADIATOR		Each	\$85.22	3,408.80	\$92.26	3,690.40
251Spectra-Premium CU1318 RADIATOR		Each	\$39.01	780.20	\$61.95	1,239.00
252Spectra-Premium CU13119 RADIATOR		Each	\$85.56	1,711.20	\$135.85	2,717.00
253Spectra-Premium CU13124 RADIATOR		Each	\$54.26	1,085.20	\$86.15	1,723.00
254Spectra-Premium CU2370 RADIATOR		Each	\$83.75	418.75	\$132.97	664.85
255EIKO BULB 9003		Each	\$3.19	63.80	\$2.77	55.40
256EIKO BULB 9004		Each	\$1.75	175.00	\$1.42	142.00
257EIKO BULB 9005		Each	\$1.91	19.10	\$1.58	15.80
258EIKO BULB 9006		Each	\$1.91	38.20	\$1.58	31.60
259EIKO BULB 9007		Each	\$2.23	223.00	\$2.04	204.00
260EIKO BULB H1155		Each	\$7.65	114.75	\$4.64	69.60
261EIKO BULB H155		Each	\$2.85	28.50	\$12.99	129.90
262EIKO BULB H11		Each	\$6.64	199.20	\$6.56	196.80
263EIKO BULB 198		Each	\$0.38	76.00	\$0.23	46.00
264EIKO BULB 199		Each	\$0.36	72.00	\$0.23	46.00
265EIKO BULB 194		Each	\$0.18	54.00	\$0.12	36.00
266EIKO BULB 158		Each	\$0.25	50.00	\$0.26	52.00
267Mevotech MK80038 (UR)Control Arms		Each	\$27.10	813.00	\$32.52	975.60
268Mevotech MK80040 (UL)Control Arms		Each	\$27.10	813.00	\$32.52	975.60
269Mevotech MK80395 (LL)Control Arms	30	Each	\$122.50	3,675.00	\$165.38	4,961.40
270Mevotech MK80396 (LR)Control Arms		Each	\$122.50	3,675.00	\$165.38	4,961.40
271Vision-OE 11532 Alternator		Each	\$120.05	1,200.50	\$115.32	1,153.20
272Vision-OE 8310 Alternator		Each	\$58.12	581.20	\$96.24	962.40
273Vision-OE 8429 Alternator		Each	\$50.16	501.60	\$69.83	698.30
274Vision-OE 11651 Alternator		Each	\$123.99	1,239.90	\$153.99	1,539.90
275Vision-OE 8310 Alternator		Each	\$58.12	290.60	\$96.24	481.20
276Vision-OE 8429 Alternator		Each	\$50.16	501.60	\$69.83	698.30
277Vision-OE 11293 Alternator 278Vision-OE 7791 Alternator		Each Each	\$109.24 \$40.97	1,092.40	\$129.24	1,292.40
279Vision-OE 7791 Alternator		Each	\$46.98	614.55 469.80	\$73.96 \$74.24	1,109.40 742.40
280Vision-OE 7776 Alternator		Each	\$40.14	401.40	\$76.99	769.90
281Vision-OE 11274 Alternator		Each	\$104.84	1,048.40	\$124.84	1,248.40
282Vision-OE 11537 Alternator	5	Each	\$53.45	267.25	\$143.74	718.70
283Vision-OE 11278 Alternator		Each	\$140.10	700.50	\$178.73	893.65
284Vision-OE 8301 Alternator		Each	\$86.91	434.55	\$83.58	417.90
285Vision-OE 11543 Alternator		Each	\$198.78	4,969.50	\$148.49	3,712.25
286Vision-OE 11271 Alternator		Each	\$140.10	1,401.00	\$173.51	1,735.10
287Vision-OE 11629 Alternator		Each	\$140.10	1,401.00	\$171.86	1,718.60
288Vision-OE 6646 Starter		Each	\$43.89	438.90	\$71.49	714.90
289Vision-OE 3221 Starter		Each	\$22.45	449.00	\$54.16	1,083.20
290Vision-OE 3213 Starter		Each	\$24.44	122.20	\$52.24	261.20
291Vision-OE 3271 Starter		Each	\$42.45	212.25	\$54.99	274.95
292Vision-OE 6674 Starter		Each	\$53.50	535.00	\$74.23	742.30
293Vision-OE 6692 Starter		Each	\$70.12	701.20	\$108.89	1,088.90
294Vision-OE 6970 Starter		Each	\$56.29	281.45	\$108.89	544.45
295Deka 551MF Battery		Each	\$44.10	1,764.00	\$48.01	1,920.40
296Deka 658MF Battery		Each	\$50.51	1,010.20	\$54.05	1,081.00
297Deka 9UIL Battery		Each	\$30.20	604.00	\$23.86	477.20
298Deka 678MF Battery		Each	\$77.87	778.70	\$53.35	533.50
299Deka 551RMF Battery		Each	\$44.10	882.00	\$48.01	960.20
300Deka 535MF Battery		Each	\$44.10	882.00	\$48.40	968.00
301Deka 526RMF Battery		Each	\$44.10	882.00	\$48.46	969.20
302Deka 675MF Battery		Each	\$69.95	699.50	\$54.13	541.30
303Deka 696RMF Battery		Each	\$84.57	845.70	\$65.15	651.50
, cood and buttory		Each	\$90.92	4,546.00	\$71.48	3,574.00
	1 50					
304Deka BXT65 Battery 305EXIDE 59X Battery		Each	\$45.32	1,812.80	\$71.19	2,847.60

Item Description	Quantity	Unit	Unit Cost	VED lator	Unit Cost	Total
307EXIDE 96RC Battery	20	Each	\$54.18	1,083.60	\$62.78	1,255.60
308EXIDE 51JIS Battery	10	Each	\$61.32	613.20	\$101.56	1,015.60
309EXIDE L3/48X Battery	20	Each	\$51.50	\$ 1,030.00	C > \$85/38	1,707.60
310EXIDE 51RX Battery	20	Each	\$61.32	1,226.40	\$71.19	1,423.80
		1		D HAIL D	SONAL C	PER
			SUBTOTAL	\$330,183.68		\$365,949.71
		9.5	5% Sales Tax	\$31,367.45		\$34,765.22
	Oakland Vendor Evaluation Total		-\$18,077.56			
			aluation Total	\$343,473.57		\$400,714.93
ADW	Gra	and Total t	for Purchase	\$361,551.13		\$400,714.93

OAKLAND CITY COUNCIL

Approved as to Form and Legality

City Attorney

		2 4		7 8	1
高度 [5]	The state of the s	-	MAA.	In I. K	44
	AFR	17		12: 4	
1 2 3 3	CPP	1 1		16.41	
P 4 . 2 P4 E				-	

WESOFOLION I	NO.	C.IVI.3

Introduced by Councilmember _____

RESOLUTION AUTHORIZING THE CITY ADMINISTRATOR TO AWARD A CONTRACT TO GENERAL AUTO PARTS COMPANY, THE LOWEST RESPONSIBLE, RESPONSIVE BIDDER, A CORPORATION, IN AN ANNUAL AMOUNT NOT TO EXCEED FIVE HUNDRED THOUSAND DOLLARS (\$500,000.00) TO PROVIDE AFTERMARKET AUTOMOTIVE PARTS & ACCESSORIES FOR A THREE YEAR TERM, AUGUST 1, 2015 TO JULY 31, 2018 FOR A TOTAL NOT TO EXCEED CONTRACT AMOUNT OF ONE MILLION FIVE HUNDRED THOUSAND DOLLARS (\$1,500,000.00), IN ACCORDANCE WITH SPECIFICATION NO. 15-465-14-01/REQUEST FOR QUOTATION (RFQ) NO. 5466, AND THE GENERAL CONDITIONS THEREFOR ON FILE IN PURCHASING SECTION AND CONTRACTOR'S BID FILED WITH THE CITY ON JUNE 1, 2015.

WHEREAS, on April 15, 2015, the City issued and advertised Specification No. 15-465-14-01/RFQ No. 5466 to provide aftermarket automotive parts & accessories; and

WHEREAS, on June 1, 2015, the City Clerk received and opened two bids in response to Specification No. 15-465-14-01/RFQ No. 5466 to provide aftermarket automotive parts & accessories; and

WHEREAS, the bids submitted by General Auto Parts, the lowest responsible, responsive bidder, a corporation, was deemed by the evaluation committee to be the lowest responder to Specification No. 15-465-14-01/RFQ No. 5466; and

WHEREAS, funds are available in the Equipment Fund (4100), Equipment Services Administration Organization (30541), Service Contracts for Machinery and Equipment Account (54612), Undetermined Project (0000000), Fleet Management and Maintenance (IN01); now be it

RESOLVED: That a contract to provide aftermarket automotive parts & accessories be awarded to General Auto Parts, the lowest responsible, responsive bidder, in an annual amount not to exceed five hundred thousand, dollars (\$500,000) for a three-year term from August 1, 2015 to July 31, 2018 for a total not to exceed contract amount of one million five hundred thousand dollars (\$1,500,000) in accordance with Specification No. 15-465-14-01/RFQ No. 5466 and the general conditions therefore on file with Purchasing according to its bids submitted on June 1, 2015, and authorize the City Administrator to approve two 1 year extensions for five hundred thousand, dollars (\$500,000) per year; and be it

FURTHER RESOLVED, That the City Council hereby rejects all other bids submitted in response to RFQ No. 5466; and be it

FURTHER RESOLVED, That the contract shall be approved for form and legality by the City Attorney and copies shall be on file in the City Clerk's Office.

IN COUNCIL, OAKLAND, CALIFORNIA,	
PASSED BY THE FOLLOWING VOTE:	
AYES - BROOKS, GALLO, GUILLEN, CAMPBELL WASHINGTO PRESIDENT MCELHANEY	N, KALB, VICE MAYOR KAPLAN, REID and
NOES -	
ABSENT -	
ABSTENTION -	ATTEST: LaTonda Simmons City Clerk and Clerk of the Council
	of the City of Oakland, California